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Geometry Chapter 1 Review

1. Name 3 collinear points on plane R.

C,5,B
2. Give another name for plane S.
Dlane AFG (possibl answer)

3. Name the intersection of line BC and Plane S.

G

4. Name a ray with endpoint E.
E—.C;" E'_’ % on o ray tThe end point
- is +he Starhing point

5.Sis between R and T. Find RT.
5x—6 2X

RS + 8T = RT ® ® =
il 4 2x » 2x+2 FTE 2(2) +2 R s T

e - = 3x *1 ‘121’=8i F—3x+2—H

Hy-0= 2
2 &
L/YX =7
6. Y is between X and Z. XY = 13.8, and XZ = 21.4. Find YZ.
. 10F . XY +Y2Z = X2

X v Z )25 +vyz=214

— -3 -13.8

21 .4 N

| v2-7-@

7. Qis between P and R. PQ = 3x, QR = 6x+4, and PR = 14x — 6. Find PR.

Pa +QR = P2 = () -G
o X - (0X+L/_= 3% +(px+l-/=l"l)("0 Pﬂ (
P & R Ox +4 = ¥~ b lPﬂ =21 [
e} q=5x-b
14X~ 0 5155

2 =X



8. U is the Midpoint of TV, TU =3X + 4, and UV =5X - 2. Find TU, UV, and TV.

Zx+Y ‘:5><—Z_1 TV =0V TU= 2(3) 44 = 13
g =S5%-1
o = 2x TV=134 1320
(p =2x L Cemie———

9. E is the midpoint of DF, DE = 9X, and DF = 20X — 4. Find DE, EF, and DF.

—
o X ., 9x+ax=20x-1 [DE=9(2)=18
ki E F 1§ x =20x -4 EF =18
o —2x ¢ F=18+I8 30
20X -4
X =2
10. Classify each angle as acute, right, or obtuse.
a. XYW b. £ZZYV c. LXYZ
o - .
Rlﬁ\’)'\' Ob"\\)aﬂ Acu.k v w

11. If m£HJL=116°, find the mZHJK .

mLHAIY ¥ m KTL = mLHTL

12X +20 + px +2F = )b )
23 247 =110 mLHTE=13(3) + W

AN N T T B
X=3
12. NP bisects ZMNQ, mZMNP = (6x — 12)°, and mZPNQ = (4x + 8)°. Find mZMNOQ .
mimNP = mlPNG ) MND = (i)~ 12
bx-1 = Hx+& m LMNP = 48°
2x-12=§ I

2% =10 Z,mL MNQ = 2(48) = 9(0:]

X £10

(10x + 27)°

~




Tell whether the angles are only adjacent, adjacent and >

linear pair, or not adjacent. i 3
5
13. Z1 and £2 14. /3 and Z4 15. £2 and X5 4
Adjpant  Linaar faw ot Adjaant
AclJacW\‘\'

14. The mz4=2x+30)° and m«£B =(3x-20)°.If Z4 and ZB are supplementary, what is
the m£B?

MLAZZMLB = 160 mLB= 3(34) ~20
A t+ %x-20 = |50
5x +/i = 180 }mLE - 82?—?
5x =170
X = 24
15. What is the distance from X(-2, 4) to Y(6,1). 16. If L(-4, 2) and M(3, -2), what is LM?
d:\[—(}f—x.)?: (_\/.L-\/,>7' d={ (xz)* +ly2-¥/)*

x 7 em = Gy +(-2-2)*
d = | (w+2)’ iﬁl_;.’_)__ LMy (.‘4L)j+(—::)1
d={()* + (-3) LM TG 17
d=Vo4 +9 LM =05
d={73

17. Given AY with endpoints A(5, 9) and Y(-11, 3) and midpoint M, what are

the coordinates for M?
(22, vy
v 2
( 54(-V) 9 +3)
e —t ) m——
z 2
- 1 —
(&%) — (3,9
18. B is the midpoint of AY. A has coordinates (3, 2) and B has coordinates (-1,4). What are the

coordinates of Y? m B —
(3,2) 77 CLHED Cs, 6
- /‘A&D

A\\_f{’B e Y




19. Find the area and perimeter of triangle ABC. Round answers to the nearest tenth, if necessary.

%oy 1Al
94 9:cr (10

nj(;:[zz \ITO “C

i3

31

Perimeter: Zﬁ H—I—é +L{ Unlt‘,'f

' )
Area: /(O UN""S-L/
———

20. Find the area and perimeter of triangle ABC. Round answers to the nearest tenth, if

necessary.

Pyatocr 2406 CY
q4c:ct H4H <ct
[is-66  (4o-E®
A N\
SRE {4 {io

2{17C 2{10 =C

gl+§ chl _i
qQ+12s =Cc*
24

|

. C-;_ g

(24 =c

T3

-
Aryre05)-30
R ,%(;)(g) =4S %

I

Anr® 5 (foﬁ) b
Aaz ‘%(3)(5’) =S

Perimeter: Zﬁ +Zﬂ8 + EL{ ()YH‘*? Area: 4 = 30'—/% = /2— Uh/‘fSL




